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CHAPTER R

Basic Algebraic Operations

R-1 Algebra and Real Numbers
R-2 Exponents and Radicals
R-3 Polynomials: Basic Oper ations

R-3 Factoring




Answer thefollowing questions:

o3

(3) x*x* =

(4) —2x° —(-2%)* =

® (—j _
yy

9 )2
© (Ej -

(7) (9a%b’c’ )2 =

®) (-8)¢ =

(9) (&+3)(&—2) _

(10) (3%° +2X* = x+2)+(-3x"+2X* + x-2) =
(1) (2x+3y)’ =

12) (2x—-y)(2x+y)=

j’l _
of-§4)

(@) m'm’ =

4 3
‘”(5*5

(4) —4x° —(—4%)* =

<5>[ yj _
XX

9):2
®(35) -

(7) (25a'b%c’ ); =

®) (-27): =

(9) (\/ﬁ+2)(ﬁ_3):

(10) (3% + 2%+ x+2) +(-3x" - 2X* + X~ 2) =
(12) (2x-2y)’ =

(12) (x—2y)(x+2y)=




Answer thefollowing questions:

() yiy'=

(4) =3x* —(-3x)* =

©) (—j _
Yy

25) 2
© (?) -

(7) (272%°¢’ )é =

wl o

®) (-8)
© (Vy+4)(Jy-2)=

(10) (3%° +2x* = x+2)+(3x’ - 2x° + x-2) =
(12) (3x+2y)’ =

(12) (3x-y)(3x+y)=

(1) G%) _

(3) u™u® =

(4) —5x* — (-5x)* =

(5)[ . j =
X X

16Y
© (3) -

(7) (8a3b6c3 )§ =

®) (-27): =

(9) (\M+3)(ﬁ_1) -

(10) (3% = 2X* = x+2) + (3%’ + 2X* + X+ 2) =
(12) (3x-3y)’ =

(12) (x—3y)(x+3y)=




Answer thefollowing questions:

>

Wy +3)Wy-4) =

(a+2b)? =

Va5 -

>

(Y -3y +5) =

(U+2v)* =

V1042 =




> Y272 =

»  (X* +5x+6)—(X* —2x—4) =

> (Bx+1)(9x% —3x+1) =

» Factor out: 5x°’y+10x°y® — 20xy®

> ooy =( )X )

> J8xd =

» (X° +5%X+6)—(X° —2x—-4) =

> (x=Y) (¢ -xy+y)=

» Factor out: 4x®y+6x°y* —8xy*

> o-ay=( ) )




Answer thefollowing questions:

& (Jy+3)Wy-4)=

4 (a+2b)’ =

2
& (-32)

N |~

+ 36

L (y+2)Wy-4)=

* (M+2n)° =




+ 10./5= 4+ 2420 =

& 27 = & Y8y

+ (X" +5x+6)— (X’ —2x—4) = b (20 —5x+2)— (X2 —2x+2) =

& (2x+1)(4x° —2x+1) = & (x+y)(X2—xy+Vy2) =

+ Factor out: 3x’y+6x*y* —3xy’ & Factor out: 6x°y+3x2y? —12xy°
+ 4x -yt =( ) ) 4 X —9y* = ( ) )




Answer thefollowing questions:

D)

L X4

D)

L X4

D)

L)

/7
0’0

The multiplicative inverse of % IS X

0

*

the additive inverse of -6 is o

The multiplicative inverse of ; IS

the additive inverse of 5 is

K/
0‘0




D)

*
w
N
\'
x
o
(<o)
Il
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D)

*

>

D)

L)

D)

o,

(3%° +5X+6) +(X* —4x—4) =

s (X+3)(x* -3x+9) =

» factor by grouping :

2X 2 +6X +5X +15=

>

< Y8x’y? =

% (x=3)%=

% (C+5x+3)+(2x2 —4x-2) =

+ factor by grouping :

2X 2 +6X +5X +15=

% X -16=( ) ) % X -1=( )¢ )
Factor the following
(B)6xy"+3xy +9xy = (@)3XCY+6XY +9xy° = | (@) 4xy’ +2X°y* +8X’y =
(8) 23y +4XY +8xy =

2 a2 (b)4a’ -9b’ = (b)9b? —4a? =
(b) 4b” —9a“ = (b) 9a2 _4b2 _

5 (c) 8x*—27 = (c) 27x*+8=
(c) 8x° +27 = (€)27x° -8 =

(d) 6X° +17x+7 =

(d) 6x* +11x—7 =

(d) 6x° —19x—7 =

(d) 6x° +23x+7 =

10




CHAPTER 1

Equations and Inequalities

1-1 Linear Equations

1-2 Linear Inequalities

1-3 Absolute Value in Equations and Inequalities
1-4 Complex Numbers

1-5 Quadratic Equations

11




Answer thefollowing questions:

(Q)(a) Solve: 4(x+4)—-2=3(x-5).

(b) Solveandgraph:  4(x+2)-8<3(x-1)+4.

(c) Solve:  [2x-3/=6.

(d) Solve,and writesolution in both inequality and interval notation: |3x- 3| <T7.

(Q) Expresstheanswer:
(@) (4+5i)+(-3-2i)=
(b) @+4i)(2-2i)=
(c) (2+4i)(2—-4i)=

1
Doz~

(Q)(a) Solve: 2(3x+2)—-3=5(x+4).

(b) Solveandgraph: 5(x+4)—-20<4(x-2)+09.

(c) Solve:  |3x+2|=4.

(d) Solve,and writesolution in both inequality and interval notation: [3x-1| <5.

(Q) Expresstheanswer:
(@) (2-5i)+(-3+2i)=
(b) (2+3i)(3—4i)=
(c) @+3)(1-3i) =

1
D3~
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(Q)(a) Solve: 3(2x+1)-5=4(x+3).

(b) Solveandgraph: 3(x+1)-3<2(x-1)+3.

(c) Solve:  [2x+3|=6.

(d) Solve,and writesolution in both inequality and interval notation: ~ |2x-2| < 4.

(Q) Expresstheanswer:
(@) (3+5i)+(-4+2i)=
(b) (3+4i)(2-3i) =
(c) (2+3i)(2-3i) =

1
@)%~

(Q)(a) Solve: 5(x+1)+4=6(x+2).

(b) Solveandgraph: 3(x+2)-6<2(x-2)+5.

(c) Solve:  [3x-2|=4.

(d) Solve,and writesolutionin both inequality and interval notation:  |2x-3|<6.

(Q) Expresstheanswer:
(@) (3+4i)+(-5-3i)=

(b) (4+2i)(2-3i) =
(c) B+D)(3B-i)=

1
)15~

13




(Q) Express the answer:

1)(-4+3i1)+ (-2 + 31) =
(2)(6 —=51)—-(5-2i) =
(3)(5 - 2i)% =

(4)(2+ 2i)(2 - 2i) =

Q) Solve : 6(2x—-1)+5=11(x+1)
(Q) Solve and graph: 2— X2 6(2—X)

(Q) Solve and write solution in both inequality and interval notation: |4 X + 3 | > 9

(Q) Solve by using factoring or by quadratic formula: 3x° -11x-20=0

Solve each equation or mequality. For inequalities, write solutions i both mequality and
Interval notation.

Rl

A)|x-1=8 @B)=7 @©Ox+3=9 (D

Solve, and write solutions in both inequality and interval notation.

(A) |x| =5 (B)|4x — 3| = 5 (C) |6 — 5x| = 16

Solve by factoring:

(AY(2xy + A¥x — T)Yy= 0 (B) It + Tx —20=10
(Cyde™ + 12x + 9 =0 (D) 4x® = 5x

14




In Problems 7—1{2, solve by factoring.

7.2:" = &« B.3" =y + 10
9. —8 =22 — 6 10. 257 = —10:
11. Iw” + 13w = 10 12. 36" = —12x — |

In Problems 13-24, solve by using the square rool properity.

13.m- — 25 =10 14. 7" + 16 =10
1E. > + 9 =10 16. 4" — 36 = 0
17.4° + 9 =10 18. 0" — 25 =0
19.25-* - 32 =10 20. 16w" + 27 =10
21. (2t — 57 = 16 22 (r— 2y = -3
23.(n — 3V = -4 24.(5m — 6 =7

I Probdems 23-32, use the discriminamnt lo determine the number
af real roois of each eguation and then solve each egquation using
the guadratic formmla.

25. v —2xr— 1 =0 26.v —dy+T=0
27.r —Ix +3 =0 28.v —4r+ 1 =10
29.2:" + 8 = 6 30.9:° +2 = 12s
3127 + 1 =6 32,9 + 7= 12s

15




CHAPTER 2 Graphs

2-1 Cartesian Coordinate Systems

2-2 Distancein the Plane

2-3 Equation of aLine

16




Choose the correct answer:

(1) Thereflection through theorigin of the point (-2,3) is the point ......
(a) (-2,3) (b) (2.3)  (c) (2,-3) (d) (-2,-3)
(2) Thedistance between P =(-4,3)and P, =(-8,6)is ..........

(a) 6 (b) 5 (c) 10 (d) 7

(3) Themidpoint M of thelinesegment joining P =(3,2)and B, =(-7,-4)isM =........

(@ (2.1) 0) (2-D ©) (4-2) (d) (42

(4) Theequation of acirclewith radius 5 and center at (-2,1) is........

(@) (x-2)°+(y-)°=25 (b) (x+1)* +(y—2)* =25
(©) (X+2)* +(y+1)* =5 (d) (x+2)°+(y-1° =25

(5) If aline passes through two distinct points B =(6,-2)and P, =(8,-6) , then its lope

(a) = (b) -~ (c) -2 (d) 2

17




(6) Giventheline 3x+2y=5, thenitsslopeis ..........
3 3 2 2
a) — b) - — C) —— d) —
(a) 5 (b) -3 (c) 2 (d) 2

Choose the correct answer:

(1) Thereflection through the x axisof the point (2,-3) is the point .......

(a) (-2.3) (b) (2,3)  (0) (2,-3) (d) (=2,-3)

(2) Thedistance between P =(4,-3)and P, = (8,-6)is ..........

(@) 5 (b) 6 (c) 4 (d) 8

(3) Themidpoint M of theline segment joining P =(2,4)and P, =(-6,8)is M =........
(@) (-2,6) ©) (-4,-6) (€ (412 (d) (4-12)
(4) Theequation of a circlewith radius 4 and center at (1,-2) is .......

@ (x+1)*+(y—2)* =16 (b) (x=1)*+(y+2)* =16
©(X+)*+(y+2)° =4 (d) (x+D*+(y-2)*=4

(5) If aline passes through two distinct points R =(-3,4)and P, =(-6,8) , then its ope

() 7 (b) - = © -3 @3
18




(6) Giventheline 2x-3y=6, thenitsslopeis ..........

3 3 2 2
(a) > (b) Y (c) 3 (d) 3

Choose the correct answer :

(1) Thereflection through the y axisof the point (-5,4) is the point .......
(a) (-5,4) (b) 5.4)  (c) (5,-4) (d) (-5,-4)

(2) Thedistance between P =(3,6)and P, =(7,9)is ..........

(a) 5 (b) 6 (c) 10 (d) 7

(3) Themidpoint M of theline segment joining P =(-3,-2)and P, = (7,-4)isM =........

(@) (2.3) 0) (-2-3) © (29 (d) (2.3

(4) Theequation of a circlewith radius 6 and center at (2,1) is .......

(@) (x—2)° +(y-1)° =36 (b) (x+1)* +(y—2)* =36
(©) (X+2)* +(y+1)* =6 (d) (x+2)°+(y-1)°=36

(5) If aline passes through two distinct points B =(3,8)and P, =(6,4) , then itsslope

19




4 3 3
(a) 3 (b) -7 (c) -+ (d) &

(6) Given theline -3x+2y=5, thenitsslopeis ..........

3 3 2 2
(a) > (b) Y (c) 3 (d) 3

Choose the correct answer :

(1) Thereflection through the y axisof the point (-2,3) is the point .......

(a) (2,3) (b) (=2,3)  (¢) (2,-3) (d) (-2,-3)

(2) Thedistance between B, =(-2,3)and B, =(6,-3)is.........

(a) 10 (b) 6 (c) 8 (d) 7

(3) Themidpoint M of theline segment joining P =(4,6)and P, =(-6,8)isM =........

(@) (2.14) 0) (2.-7) (© (-1.7) (d) (-1.14)

(4) The equation of acirclewith radius 3 and center at (-1,2) is........

(@ (-1 +(y-2*=9 () (x+D)° +(y-2)° =3
(O (x+1?+(y+2)? =3 (d) (x+D)? +(y-2)* =9

20




(5) If aline passes through two distinct points B =(-2,6)and P, =(-6,8) , then itsslope

(a) = (b) - > (c) -2 (d) 2

(6) Giventheline 3x-2y=5, thenitsslopeis..........

3 3 2 2
(a) 5 (b) ) (c) 3 (d) 3

In Prablems 312,  nd the distarnce between each pair of points
and the midpaint aof the line segment joining the points. Leave
distance in radical form, if applicable.

5.(1.0) (4. 4) 6. (0. 1) (3. 5)

7. (0, —2), (5, 10) 8. (3, 0L({—2 —3)

9. (—6. —4) (3, 4) 10. {—5,.4), (6, —1)
24 (—6, —3L(—-2 1) 12 (—5. —-2).(—-1.2)

In Problems 1320, write the eguation of a circle with the
imdicared cemter and radius

—

13. C=(0.0Lr=7 14. C= (0. 0L r=5
1. C=(2. 3}, r=2=06 18. C=(5,6Lr=2
1T7. C=(—4, 1L r = W7 1B. C = (—5, 6), r = V11
19. C ={—3, —4), r = V2 20.C= (4, —1),r = V5

21




Find the slope of the line through each pair of points. Do not graph.

(A} (—3, —3), (2, —3) (B (—2, —1),(1,2)

(C) (0, 4). (2, —4) (D) (—3, 2 (—3, —1)

Write the slope-intercept form of the line with slope 3 and v intercept —2. Graph the
equation.

(A) Find an equation for the line that has slope —; and passes through the point (3, —2).
Write the nal answer in the form 4x + By = C.

(B) Find an equation for the line that passes through the two points (—3, 1) and (7, —3).
Write the nal answer in the form v = mx + b.

Given the line L: 4x + 2y = 3 and the point P = (2, —3), nd an equation of a line through
P that is

(A) Parallel to L (B) Perpendicular to L

Write the nal answers in the slope-intercept form v = mx + b.

22




CHAPTER 3

Functions

23




Choose the correct answer:

12
(1)If f(X):E,then f(5): .......
(a)3 (b) 4 (c) -3 (d) -4
) If f(x):é, then the domain of fis D, =.....

(a)R (b) (=o0,2)U(2,0) (¢) (=x,2) (d) [2,)

(3) If f(x)=x"+4x thenthefunction fis......

(a) even function (b) odd function (c) neither even nor odd function

an1f f(x)=x>+1and g(x)=2x, then (go f)(X)=.........

(a) 2x° + 2 (b) 4x* +1 (c) 2x* +1 (d) 4x* + 4

Choose the correct answer:

12
(1) If f(X):E,then f(—2): .......
(a)3 (b) 4 (c) -3 (d) — 4
) If f(x):é,thenthedomajn of fis D, =.......

(a) (=,3)U (3,) (b) R (¢) (=,3) (d) [3,)

24




(3) If f(x)=x"+2x, then thefunction fis.......

(a) even function (b) odd function (¢) neither even nor odd function

@1t f(x)=x*+2and g(x)=3x, then (f o g)(X) =.........

(a) 3x* +2 (b) 9x* + 2 (c) 9%x* +3 (d) 3x*+3

Choose the correct answer :

) If f()=—2 then f(4)=..

x-1
(a)3 (b) 4 (c) -3 (d) -4
@) If f(x):é,thenthedomain Of fis D, =

()R (b) [1,0) (¢) (=x,1) (d) (-, 1)U (1, )

(3) If f(x)=x"+3x% then thefunction fis......

(a) even function (b) odd function (c) neither even nor odd function

@1t f(x)=x>+1and g(x)=2x, then (f o g)(X) =.........

(a) 2x° +2 (b) 4x* +1 (c) 2x* +1 (d) 4x° +4

Choose the correct answer:

) If f()=—2 then f(-3)=......
x-1
25




(a)3 (b) 4 (c) -3 (d) -4
(2) If f(x)=—, then thedomain of fis D, =......
X+1

(@) R (b) [-1,) (c) (-o0,-1) (d) (—o0,-1) U (-1, )
(3) If f(x)=x*+2, then thefunction fis........

(a) even function (b) odd function (¢) neither even nor odd function

@1t f(x)=x*+2and g(x)=3x, then (go f)(X)=.........
(a) 3x* +2 (b) 9x* + 2 (c) 3x*+6 (d) 3x*+3
4

2 — x

(B) Find G(3). G(h), and G(3 + h) for G(x) = x> + 5x — 2.

(A) Find F(4), F(4 + h), and F(4) + F(h) for F(x) =

(C) Find K(4). K(9x), and 9K(x) for K(x) = ﬁ
3 —Nx

Find the domain of each of the following functions. Express the answer in both set nota-
tion and inequality notation.*

15 . 2
(A) fx) = e (B) g(x) = 16 + 3x — x° (C) k(x) = —

V=2

Find the domain of each of the following functions. Express the answer in both set nota-
tion and nequality notation.

(A) Fix) = %T (B) G(x) = x> + 5x -2 (C) K(x) = 1 _6\/{_

26




2T, Lt flx)
L) FL30
() 3 +
2. et grlv)
%) ol d)
() g4}

29 I o v

%) A4y

Ix — 5.
W]
T — 23
elf)

Famcd
(B Fis)
{2 3 + R

Eerncl
(By i h
(D) &= + &)

— = 4 X Find

{4 A4 + )

H0. Lot Cr{s)
%) D
Oy ol — 1
34.
%) A 2)
{40 — i)

32,
%) & —2)
{1y —Kiz)

I3, Lo Flark
{8 F 1 10)
() FiSewd

4. L.et Crfas
%) O

Sf — ¥,

+ M

Hh

=
Lr — B

A — B — w,

() Ol — 2Zee)

(B} 5~ S

(D) FI2 — a)
Fin«

(Bb Orf =1

() il — 7))

Let firy = 2 — 3¢~ Find

(B} i £
(D) —F 1 —0n

Let &(=) = 40 4+ 20="_ Find

(B & —=)
(2 — & —=)

— 1. Fird

(B Fle)
{23 S5 )

Fin«
(B Cr{aT)
([ — 20 (eed

In Problems 47-62, find the domain of the indicared function.

Express anywers in bath inferval notation and ineguality notation.

47. fix)=4 — 0x + 37

49, L)y = Vi + 4

3

hiz) =
B51. hiz) 1

83.p(f) = Vi— 4

Bh. Hwl = W7 + 3w

u
57. Hiu) =
o+ 4
AT
59, Mix) = —
r — 1
_ I
61.s5i1) = PE——
A W

48. e} =1+ Tt — 2r

850. M(w) = ,I;I
W3+ 2w
82. kz) = T

84, hir) = V6 — 1
§6. i(w) = VI + 4w

L

58. Giu) = —
" 4
W= 3

B0. VM) =

\x) r + 2
|

82. rif) = ——

Wi—4d

27




CHAPTER 5
Exponential and Logarithmic Functions

5-1 Exponential Functions 328

5-3 Logarithmic Functions
5-5 Exponential and Logarithmic Equations

28




EXPOMNMENTIAL FUNCTION PROPERTIES

For a and & positive, a % 1. b == 1. and x and v real:
1. Exponent laws:

aa¥ = » {H.-.'}_r = g

ay _a’ a’

b i et
2. a'=qa"ifand only if x = y. 6% =6"" then dx=2x + 4, and x =2
A Forx =0, =8 if and only if «a = b, H a* = 3% then a=3.

fn Problems 3330, salve for x.

33. 57 = 52 34. 107~ = 107
35,77 =77 38.4" " =4 "
3.4 =] 3.6/ =1

39.(1 - =(—-1f  40.5=(x+2f
41 2" =10 42.(x - 3" =10
43. 5" - 5xe" =0 44,5 "+ xe =10
459" = 3! 46.4° =2
47125 = 128 48; 47t = 157!
49, 4577 = g 50. 100%™ = 1, 000"

Change each logarithmic form to an equivalent exponential form.

(A) logs27=3 (B)logse6 =%  (C) logs(3) = =2

[ ]

Logarithmic-Exponential Conversions
Change each exponential form to an equivalent logarithmic form.

(A)49=7" (B)13=Vv9 (O)i=35"

29




Solutions of the Equation y = log, x
Find x, b, or v as indicated.

(A) Find v: v = logy 8. (B} Find x: logy x = —2. (C) Find b: log, 3] = 4.
Find x, b, or v as indicated.

(A) Find y; y = log,27.  (B) Find x: log,x = 3. (C) Find &; log, 100 = 2.

» THEOREM 2 Properties of Logarithmic Functions

If b, M, and N are positive real numbers, & # |, and p and x are real numbers, then

1. log, 1 =0 Sloge M =loga N ifandonlyif M=N
2. log, b =1 6. log, MN = log, M + log, N
M :
3. |r.1g|., B =g 7. |ﬂg,. T _ |L‘r_g.-. M — l-;!g,r, N
4. .I".ilm"l“' T - || 3 lﬂg.-. MP = " ]Ugh M

Using Logarithmic Properties
Simphfy, using the properties in Theorem 2.

{."!'l.j lﬁ}%.] |:E.:| ||;.1.g”| L0 {L":I iﬂi—'.. L"]-l |
(D) log,, 0.01 (E) 108w’ (Fy &' o

Simplify, using the properties in Theorem 2.

(A) logip 1077 (B) logs25  (C) logy
(D) log.e" ™" (E)10%Ew?  (F) glost

1)

30




CHAPTER 6
Trigonometric Functions

6-2 Trigonometric Functions
6-3 Solving Right Triangles
6-4 Properties of Trigonometric Functions

31




TRIGONOMETRIC RATIOS

3
= =]
|

b
P
a
e
h
a

Fie slo o

Side b is often referred 1o as the side opposite angle 8, o as the side adjacent 1o angle
B, and ¢ as the hypotenuse. Using these designations for an arbitrary right triangle removed
from a coordinaie system. we have the following:

RIGHT TRIAMNGLE RATIOS

Using Basic Identities

Use the basic identitics to find the values of the other five trigonometric functions given
qhx = —% and tanx = 0.

Use the basic identities to find the values of the other five trigonometric functions given
cosx = 1/V2 and cot x < 0,

Values of the Trigonometric Functions

If sin 6 = 4/7 and cos A < 0, find the values of each of the other five trigonometric func-
tions of 6,

If tan & = 10 and sin # < 0, find the values of ¢ach of the other five trigonometric fune-
tions of 4,

32




Final Exams Sheets
Sheet (1)

Question 1: Choosethe correct answer:

9 \z
(1) (EJ = Liiissnaaas
4 9 16
(2)(-8) 3 =..........
1 1
(a)—ﬁ (b) 16 (C)E
(3) =5x° = (-3X)°’ =..c.eoc....
(a)32x° (b)22x° (c)—22x°
(4)1If y=1log,32,theny=........
(a) 2 (b)4 (c)3
(5) a*.a’=..........
(a)a’ (b)a’ (c)@°

(6) (2X—Y)(4X + 2%+ V) =.ovvrnnee.
@)2¢+y (D)8 -V (Q) 2 +8Y°

33

3
(d)

(d) —16

(d)-32%°

(d) 5

(d)a’

(d)8x +y°




Question 2 : (A) Factor the following polynomials :

(1) 6pr+3ps—qgr—qgs=

Question 3 :

(1) Solve, and write solutions in both inequality and interval notion:
|13-2x[>7.

(3) Solve by factoring : 6x° +14x+4 =0.

34




(4) Express the answer:
(8) (3—2i)% =

Question 5:
(1) Find an equation of a line L that passes through the

point (2,4) and parallelto L;: 5x+ 3y =15.




(2) Find the center and the radius of a circle whose equation is :

(X+2)° +(y+3)°=25.
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Sheet (2)

Question 1: Choosethe correct answer:

9 5
(a) o5 (b) 3
(2)(=27) 5 = oo

1
O (b) 81

(3) —4xX° = (-4X)° =............

(a) - 60X’ (b)8x°

(4)1f y=1log,16,theny=....

(a) 2 (b) 4
(5) (%)% = .......
(a)a’ (b)a’

(6) (2x—y)(4X* +2xy+ y?) =

(a)2x° + y? (b)x* - y°

(c) &2

(c) -9

(c)60x°

(c)3
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3
(d) =

(d) 57

(d)-8x°

(d) 5




Question 2 : (A) Factor the following polynomials :

(1) 2pr+ ps—6gr —3gs=

Question 3 :

(1) Solve, and write solutions in both inequality and interval notion:
|8—-2x > 4.




(3) Solve by factoring : 6x* —11x+4 =0.

(4) Express the answer:
@) (3+2i)° =

Question 5:
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(1) Find an equation of a line L that passes through the
point (4,2) and parallelto L;: 3x+5y =15.

(2) Find the center and the radius of a circle whose equation is :

(x=2)%+(y+3)°=4.
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Sheet (3)

Question 1: Choosethe correct answer:

(1)(‘4—5j o

5 4 5 4
(a) 7 (b) T (c) n (d) 3
2) 2~
a
(a) am+n (b) an—m (C) amn (d) am—n
3 )
(3) (EJ = e,

2 3 2 3
(a)3 (b) = (©)-5 (d)-=
(4) b9 = ...

1 1
(a) x (b) — x (c)— (d)-—
X X

(5) The reflection through the x—axis of the point (-2,-5) is the point ..........

(a) (=2,5) (b) (2,-5) (€) (2,5) (d) (=2,-5)
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(6) The distance between P, =(3,6)and P, = (7,9)is ..........

(a) 7 (b) 6 (c) 10 (d) 5

(7) Given two nonvertical lines L, and L, with slopes m and m,, respectively,
then L \\L, ifand onlyif .............

(@) m =m, (b) m =-m, (c)m-m, =1 (d)m-m,=-1
(8) If f(x)=3x"+1,then the function f is ........
(a)evenand odd (b)odd (c) even (d) neither even nor odd
(9) Given the line —-7x+3y=5,thenitsslopeis.........
7 7 3 3
_ b) — _ 2 d) =
(a) -5 (b) - (©) - - (d) -
(9)secq =.........
1 1 1 1
(a) — (b) (c) (d)
sinq cos(q tanq cotq

Question 2: Simplify the following:




(1) 9x* —4=




Question 4 :

(1) Solve, and write solutions in both inequality and interval notion:
|2x-5|< 3.

5
Question 5: (1) Let f(x) = 1
(a) Find the domain of f
(b) Calculate f (2).
(2) Find the following:
(@) sing =............ u 4
4 ]
(b) cotg =.............. .
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Sheet (4)

Question 1: Choosethe correct answer:

4 -1
e

5 4 5 4
(a) _Z (b) —g (c) Z (d) g
(2) a; i,
a
(a) am+n (b) amn (C) an—m (d) am—n
7}
3) (T) i
2 3 2 3
(a)3 (b) (©)- 5 (d)-=
(4) €% = ...
1 1
(a)- X’ (b)—7 (0)7 (d) x*

(5) The reflection through the x—axis of the point (-2,5) is the point ..........

(@) (=2,5) (b) (2,-5) () (2,5) (d) (=2,-5)
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(6) The distance between P, =(7,9)and P, = (1,1)is ..........

(a) 5 (b) 10 (c) 7 (d) 6

(7) Given two nonvertical lines L, and L, with slopes m and m,, respectively,
then L \\L, ifand onlyif .............

(@) m-m,=-1 (b) m =-m, (c)m-m, =1 (d) m =m,
(8) If f(x)=3x"+1,then the function f is ........
(a)even (b) odd (c)evenand odd (d) neither even nor odd
(9)Given the line —-3x+7y =5, then itsslopeis .........

7 7 3 3

L b) — — _ = d) =
(a) 2 (b) 2 (c) - (d) -
(9)tang =.........

1 1 cosS sin

(a) - (b) (6) =1 (d) =

sinq cos(q sinq cos(q




(1) 4y*-9=
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Question 4 :

(1) Solve, and write solutions in both inequality and interval notion:
|2x—-6|< 4.

6
i . (1) Let f(x) = —
Question 5: (1) (x) v

(a) Find the domain of f
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Sheet (5)

Question 1: Simplify the following:

N |-

Question 2 : (A) Factor the following polynomials :

(1) 6x° +10xy—4y° =




(3) 9b® —4a’ =

Question 3 :

(1) Solve, and write solutions in both inequality and interval notion:
|2-2x[<4

(4) Express the answer:
(@) (4+31)(4-31) =

Question 4: (1) Let f (X) =+/x—3 and g(x)=3x° +1
(a) Calculate f (4)

(b) Find the domain of f
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(2) Determine the function t is even, odd or neither.

f(X)=2X +X

Question 5:
(1) Find an equation for the line that passes through the two

points (-2,2) and (4,5).




Sheet (6)

Question 1: Simplify the following:

Question 2 : (A) Factor the following polynomials :

(1) 6X° +14xy+4y* =

52




(2) X +8y’ =

Question 3 :

(1) Solve, and write solutions in both inequality and interval notion:
|4-2X|<6

(4) Express the answer:
(@ (1+31)1-31)=




Question 4: (1) Let f(X) =+/x—2 and g(x)=4x" -1
(a) Calculate g(2)

f(X) =X —2x

Question 5:
(1) Find an equation for the line that passes through the two
points (4,3) and (5,6).
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(3) Find the equation of a circule with radius 5 and center C = (-4, -1)
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Sheet (7)
Question 1: Choosethe correct answer:

D) x-x"=.........

(a) x (b) x (c)1 (d) 0
(2) (a™) = e,
(a) a™™" (b) a™™" (c) a™ (d) a%

_3
(3)9 2=............
1 1

(a) 27 (b) > (c)-27 (d)-—~

(4) The reflection through the y—axis of the point (3,7) is the point ..........
(a) (-3.,7) (b) (3,-7) (c) B, 7) (d) (-3,-7)
(5) The equation of a circle with radius 4 and center at (3,-4)is.........

(a)(x—3)°+(y-4)* =16 (b) (x+3)° +(y—4)" =16
() (x+3)° +(y+4)° =16 (d) (x—=3)*+(y+4)* =16

(6) Given two nonvertical lines L, and L, with slopes m and m,, respectively,
thenL, LL, ifandonlyif ............

(@ m=m, (b) m =-m, (c)m-m, =1 (d)m-m,=-1
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(7) If f(x)=x*+2x,then the function f is ........

(a)evenand odd (b)odd (c) even (d) neither even nor odd
(8) Given the line —-4x+3y=5,then itsslopeis.........

4 4 3 3
a) — — b) — c) —— d) —
(2) -3 (b) - (©) -+, (d) -,

(9) If the line passes through two distinct points B = (X, y;)and B, = (X, Y,),
then its slope m s given by formula ........ such that x, # X,.

y2+y1 (b) m= y2+yl

(a) m= Yo=Y (d) m= Yo=Y

(© m=2"%

X=X X+ X X=X X+ X
(10) If f(x)=x*>+1and g(x)=2x, then (f o g)(X) =.........
(a) 4x°+4 (b) 4x* +1 (c) 4x%+ 2 (d) 4x*+3

Question 2: Simplify the following:
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(1) X' -4y*=

Question 4 :

(1) Solve, and write solutions in both inequality and interval notion:
|3x—6]> 3.
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(2) Solve: [2x—-4|=6

Question 5: (1) Let f (x) =2x*-3x+5
(a) Find the domain of f
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Sheet (8)

Question 1: Choosethe correct answer:

D) x-xt=.......
(a) 1 (b) x (c) x (d) 0
(2) (a™) = e,
(a) a™™" (b) a™ (c)a™™" (d) a%
3
(3) 92 =............
1 1
(a) 27 (b) > (c)-27 (d)-—~

(4) The reflection through the y—axis of the point (-3,7) is the point ..........
(a) (-3,7) (b) 3,-7) (c) (3,7) (d) (-3,-7)

(5) The equation of a circle with radius 4 and center at (-3,-4)is.........

(a)(x-3)° +(y-4)* =16 (b) (x+3)° +(y—4)" =16
() (x+3)° +(y+4)° =16 (d) (x—=3)*+(y+4)* =16

(6) Given two nonvertical lines L, and L, with slopes m and m,, respectively,
thenL, LL, ifandonlyif ............

(@ m-m,=-1 (b) m =-m, (€)m-m,=1 (d) m =m,
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(7) If f(x)= x>+ 2x,then the function f is ........

(a)evenand odd (b)odd (c) even (d) neither even nor odd
(8) Given the line 3x+4y=5,thenitsslopeis.........

4 4 3 3
a) — — b) — c) —— d) —
(2) -3 (b) - (©) -+, (d) -,

(9) If the line passes through two distinct points B = (X, y;)and B, = (X, Y,),
then its slope m s given by formula ........ such that x, # X,.

y2_y1 (b) m= y2+yl

(a) m= Yo+ (d) m= Yo=Y

(© m=22%

X=X X+ X X=X X+ X
(10) If f(x)=x*>+2and g(x)=2x, then (f e g)(X) =.........
(a) 4x°+4 (b) 4x* +1 (c) 4x%+ 2 (d) 4x*+3

Question 2: Simplify the following:




(1) 4X° —y* =

Question 4 :

(1) Solve, and write solutions in both inequality and interval notion:
|2X—4 > 6.
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(2) Solve: [2x-2|=8

Question 5: (1) Let f (x) =3x*-2x+4
(a) Find the domain of f
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